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1.
Identify the position where electrophillic aromatic substitution (EAS) is
most faourable .
A A
B.B

C.C

D.AandC

Answer: B

(e |


https://dl.doubtnut.com/l/_u1sxRmObp3ts

l o \Wwatch Viaeo Solution

NO,

© © ©

2. {a) )

Correct order of rate of EAS (electrophillic aromatic substitution) is :
Ac>b>a>a>d
B.c>d>a>b
Ca>b>c>d

D.c>d>b>a

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_u1sxRmObp3ts
https://dl.doubtnut.com/l/_YuDZVtTLEUyl

Above (C-N) coupling reaction take place at:

A. low pH

B. intermediate pH

C. high pH

D. any pH

Answer: B

° Watch Video Solution

4. Which of the following has the lowest heat of combustion?


https://dl.doubtnut.com/l/_x6rEr3sAYBr1
https://dl.doubtnut.com/l/_JMpeuzrnFyD6

O~
O~
O
L)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JMpeuzrnFyD6

5.The product obtained from the reaction is

el buinics!
Br CH,Cl + NaCN ——m—

HrA@—Gi‘.EN
Br@ CH,Cl

CH,CN

Br @— CH,Cl

CN

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MZxns1CI70lZ

© O
+ 0.

co”
6.

The end product (C) is :

A.
B 0
0
I
C — CgHs
: : . —CgHe
[
C. ©
0
I
.C @
@ COOH
D.
Answer: B

LA, |, Eclig WO hew | p 1300

2 AICl,

1. H,0°
3.H,0°

+

° Watch Video Solution



https://dl.doubtnut.com/l/_JclFK8jxWqqH

7. How many benzylic hydrogens are present in the hydrocarbon shown

below?

A3

B.4

C.5

D.8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zPyBY96Jq56c

8. The major product formed in the reaction is :

i i
¢ HNO, — = 0,

NO.,

O


https://dl.doubtnut.com/l/_zPyBY96Jq56c
https://dl.doubtnut.com/l/_TEpvrpQPdh1b

C. i
NO,
D.
Answer: B

o Watch Video Solution

9. The major product formed in the reaction is :

ﬁ Conc. HilGy  cone, HgSO,
0@ ~==


https://dl.doubtnut.com/l/_TEpvrpQPdh1b
https://dl.doubtnut.com/l/_aoXV6wYkKYUS

q
@C © @
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(o]

@_II @

NOJ

@' -0
D.

Answer: D

° Watch Video Solution

10. Increasing order of rate of reaction with HNQO3 / H3SO4 is :

é@fzwétm

i} (1ad)

Aair <1t <1

B.11 < 111 <t


https://dl.doubtnut.com/l/_aoXV6wYkKYUS
https://dl.doubtnut.com/l/_OJxqzUmmy0z5

CI <t <1t

D.I < it < 44

Answer: D

o Watch Video Solution

1. Increasing order of rate of reaction with Bry / AlCl; is :

h OH O3 [+ Ok
i) (i} { i) iv)

Adir < I <t <iv

B.iv <1t < I <iit

Cit <iv <t <1

D.iv < 9% < 9% < ¢



https://dl.doubtnut.com/l/_OJxqzUmmy0z5
https://dl.doubtnut.com/l/_i6Jn7xOJQYJh

L T vvaldn vidco o501ution )|

12. Increasing order of equilbrium constant for the formation of a hydrate

is :

w 0 0 LV
O™ 0 QO o0
CH,0 O
(1l {hv]

() (i
Al <t <t < v
B.iv < it < I <1t
Ciu <iv<iit <t

D.iv < 9% < 9% < ¢

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_i6Jn7xOJQYJh
https://dl.doubtnut.com/l/_x8gprtHoy9jn

13. Rank the following reaction A, B and C in order of increasing rate,

Me Me Me Me
SO4H
80,/H.50, 50,/ H,50,
(A _— (B) —_—
S0,
NO,

NO,

50.,/H,50,
() @ S — @
S04H

AAB>A>C
B.B>C>A
CA>B>C

DA>C > B

Answer: A

o Watch Video Solution

14. Rank in order of increasing rate of reaction towards EAS with bromine

in the presence of F'e Brs


https://dl.doubtnut.com/l/_CluOfn7VWE36
https://dl.doubtnut.com/l/_RLxCMHe1XqOr

= O
0 O O

ABItAItC
B.AItBItC
C.BItCItA

D.AltCItB

Answer: A

° Watch Video Solution

CH,

15. b

Identify the position where E.AS. can take place.


https://dl.doubtnut.com/l/_RLxCMHe1XqOr
https://dl.doubtnut.com/l/_4ngeB7crzyYm

Al

B.2

C.3

D.4

Answer: A

o Watch Video Solution

16.

Product (B) in the above reactions is:

oS C

- NO
(GF—<T>—e:

NO,

B.

Praduct (B) in the above reactions is:

HM-

(B)



https://dl.doubtnut.com/l/_4ngeB7crzyYm
https://dl.doubtnut.com/l/_OYYmZsabNYk9

@8@

C. NO,

O

NO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OYYmZsabNYk9

17.

Sulphonation is most favourable at the carbon number....
A1
B.2
C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1N8k3nJZ6ga

18. Arrange the following in decreasing order of reactivity towards EAS

(electrophilic aromatic substitution)

CH, CD, CT,

©

Aagtbgtc
B.cgtbgta
C.agtcgtb

D.cgtagth

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Y1N8k3nJZ6ga
https://dl.doubtnut.com/l/_97QdXVXRvUqc

R

Decreasing order of rate of electrophilic aromatic substitution is : (
Aagtbgtcgtd
B.agtcgtbgtd
C.bgtagtcgtd

D.bgtcgtagtd

Answer: B

o Watch Video Solution

20. Arrange the following in increasing order of rate of Nitration:
Me D
b

© © W © ©

fal {

vl F3)


https://dl.doubtnut.com/l/_o408MFn6d97G
https://dl.doubtnut.com/l/_VwCr74z1A1hO

A.bltcltaltdlte

B.dltelta=cltb

C.dltaltclteltb

D.altcltblteltd

Answer: B

o Watch Video Solution

& e E

lad (b

21. «
The rate of nitration will be:

Aagtbgtc

B.agtcgthb

C.a=b=c

D.cgtagth


https://dl.doubtnut.com/l/_VwCr74z1A1hO
https://dl.doubtnut.com/l/_MH8dIFxKcpt0

Answer: C

° Watch Video Solution

22.The major product of the reaction is

» Product.

31 Hyld

CH, - fii

CH1

e
&

C.


https://dl.doubtnut.com/l/_MH8dIFxKcpt0
https://dl.doubtnut.com/l/_bLVgLS0tSv4h

d o,

Answer: C

° Watch Video Solution

23. Arrange in their decreasing order of rate of electrophilic aromatic

substitution :

(1) (7i} {im)

A.i gt ii gt iii

B. iii gt ii gt i


https://dl.doubtnut.com/l/_bLVgLS0tSv4h
https://dl.doubtnut.com/l/_cayrAJ6A752J

C.ili gtigtii

D.i gt iii gt i

Answer: B

o Watch Video Solution

Cl
cl
+ HO —— (A)
'E-:I {4 mosde | ||l“,.i|..-q-|
Cl
24, (4 Mt |

Product (A) of the given reaction is :

Cl cl
0 cl
cl o
A. cl


https://dl.doubtnut.com/l/_cayrAJ6A752J
https://dl.doubtnut.com/l/_c0WaXlFGBDa7

cl 8] cl
o8l
C. al al
Cl Cl
i D: i
D. “ cl

Answer: B

° Watch Video Solution

25. In which of the following compound electrophilic aromatic
substitution take place in phenyl ring present in left hand side ?

0

I

o
I

c @—CFI-; -0 @

(8]

St

D.


https://dl.doubtnut.com/l/_c0WaXlFGBDa7
https://dl.doubtnut.com/l/_2CEycgRBHHd5

Answer: D

o Watch Video Solution

Ha50,

26. i , Reactant

(A)is :


https://dl.doubtnut.com/l/_2CEycgRBHHd5
https://dl.doubtnut.com/l/_0jsBZwMCYeX1

C.
CO-,H
CO,H
D.
Answer: C

° Watch Video Solution

27. Which of the following compounds is the slowest to react with

nitrosonium ion (NO+) ?


https://dl.doubtnut.com/l/_0jsBZwMCYeX1
https://dl.doubtnut.com/l/_9lBDDzo4T1ow

"

O

>

Answer: C

C

B
C.
D.

o Watch Video Solution



https://dl.doubtnut.com/l/_9lBDDzo4T1ow

28. Complete the following reaction

o 4]

I§ I
(Ol CH-C-Cl | Clemmensen Hy Q| MaCN RedP + Fjf Ib r
AT P ton Ay H, 50, !1_1_0° ( Upro cn)

[buprofen is :

CHy

|
A CH,y —CH, —@CH —COH
.

CH,- (‘JH— cul_@_ca —CO,H

B' CHy CH,

CH, - CH - CH,

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_8NfFQyvU4LWi

0
Il

ﬂh C-. AlCl,
O >
CH, -CH - ¢~

|
20, 0

What is the major product of above Friedel-Craft reaction ?

(8]
: % CO,H
A.

CO;H

@ii
@ii


https://dl.doubtnut.com/l/_8NfFQyvU4LWi
https://dl.doubtnut.com/l/_9ismcrjDLjfq

Answer: B

° Watch Video Solution

30. What combination of acid chloride or anhydride and arene would you

choose to prepare given compound ?



https://dl.doubtnut.com/l/_9ismcrjDLjfq
https://dl.doubtnut.com/l/_36iTbPO7rdBz

Answer: B

° Watch Video Solution

31.In the given conversion best yield will obtained with :

[
A.A = CHs — C — Cl, AlCls, B = Zn(Hyg), HCI

O
[
B. A = Zn(Hg), HCl, B = CH; — C — Cl, AlCl,

C.A=CH, — CH, — Cl, B = Zn(Hyg), HCI

D.A= NH, - NHy,/HO ,D,B = CH3; — CH, — Cl, AlCl;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_36iTbPO7rdBz
https://dl.doubtnut.com/l/_Y9K675CLyc5m
https://dl.doubtnut.com/l/_TIn3Jx1t6CVW

32. Rank the following in order of decreasing rate of reaction with

alkoxide ion (CH3CH20O ™) in a nucleophilic aromatic substitution

reaction :
Br Br Br Br
NO, NO,
NO, NO,
NO, NO,
| 2 3 4

A3gtd4gtigt2

B.3gt4gt2gt1

C2gtligt4gts3

D.4gt3gt2gt1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_TIn3Jx1t6CVW

33. Identify the principal organic product of the following reaction.

F

+ NaSCH , —— product
04N Br

.
CHlyS ~ : :F-r

A.

04N Br
B.

“H, 8

¢ b
OnN :@:Br

cC.
.

D.

SCH,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4QjLkxJzAsc2

34. Which position will be attacked most rapidly by the nitronium ion
(— NO,)* when the compound undergoes nitration with

HN03 /H2804 :

AA
B.B
C.C

D.D

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NXmIbgPbtWXg

l.'.'.un-:.Hlsll:ll‘__i(x} By /MO vy,
EXCTHA

35.

Product (Y) of this reaction is :

NH,

Br

H

Br
M
Br <@7 Br

SO, H
B.

NI

EF@’ Br

SO, H
b

I3
Br

A

C


https://dl.doubtnut.com/l/_EdGSa6TqbnnS

NH,
Br
Br

SO4H

Answer: C

o Watch Video Solution

36. All the hydrocarbons shown are very weak acids. One, however, is far

more acidic than the others. Which one is the strongest acid ?


https://dl.doubtnut.com/l/_EdGSa6TqbnnS
https://dl.doubtnut.com/l/_2foKX7ZOR5N3

Answer: C

° Watch Video Solution

a 2. SOCL, 4 MeOH
@ . o LA ) 2N gy ST, ) —— ——> @
1/0/ ‘sd
37. o a

Product (D) in above sequence is :

: CF,

@j\/\wu — CH,
A.


https://dl.doubtnut.com/l/_2foKX7ZOR5N3
https://dl.doubtnut.com/l/_8y7XzC6r4pX8

]

OH

@*”@

Answer: A

o Watch Video Solution

38. The action of bromine water (excess) on salicylic acid results in the

formation of :

COOH

Bi


https://dl.doubtnut.com/l/_8y7XzC6r4pX8
https://dl.doubtnut.com/l/_IDJK349lVycN

Rr coo|

Ol
B. Br
Br B
O
Br
C.
Bir COOH
Br
D. BI
Answer: C

o Watch Video Solution

39. What is the correct order of o/p ratio when E* attacks the following
system ?
A- PhF , B-PhCl, C-PhBr, D-Phl

AAItBItCItD

B.A=B=C=D


https://dl.doubtnut.com/l/_IDJK349lVycN
https://dl.doubtnut.com/l/_Rtk5E6VbGH9G

C.DItCItBItA

D.DItBItAItC

Answer: A

° Watch Video Solution

40. How many products are capable of beings formed from toluene in

each of following reaction ?

Mono-nitrarion
-\. | ‘L
k.
1;\1
"'3'1 i mian
H! .':.1;'_1-
[ B

I'ry-miEratnn

({4

A.A=3,B=6C=8

B.A=3,B=6,C=6


https://dl.doubtnut.com/l/_Rtk5E6VbGH9G
https://dl.doubtnut.com/l/_9uiNxEpiTR7K

C.A=3,B=6,C=10

D.A=3,B=4,C=6

Answer: B

° Watch Video Solution

41. Nitration takes place at the which position of the given compound ?

'EM-E_—:!_

A A

B.B


https://dl.doubtnut.com/l/_9uiNxEpiTR7K
https://dl.doubtnut.com/l/_gjrytml3CUlR

C.C

D.D

Answer: B

o Watch Video Solution

CH; — CO,H
Acy O
= 1—}1
CO,H |

42.

Indentify the product.

L,

CO;H

©:CH1 — CO;H
COzAc

A.

B.



https://dl.doubtnut.com/l/_gjrytml3CUlR
https://dl.doubtnut.com/l/_443dMf7eQOGk

Answer: D

o Watch Video Solution

O

|

43,
Unknown (A) is :

AICI,

(A)



https://dl.doubtnut.com/l/_443dMf7eQOGk
https://dl.doubtnut.com/l/_MinQU6PzV351



https://dl.doubtnut.com/l/_MinQU6PzV351

C.
0
Ph -C - Ph
D.
Answer: C

o Watch Video Solution

\ RO H
@ + Oiﬂ]'—.m} LINBS o (B) ~ 5 (0
A (2} abec. KO
44,

Product (C) is:


https://dl.doubtnut.com/l/_MinQU6PzV351
https://dl.doubtnut.com/l/_VmVNFKTj7n4G

A

B.

=
ow
e

C.
D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VmVNFKTj7n4G
https://dl.doubtnut.com/l/_yLE8DKv3UsVD

45.The reaction of toluene with chlorine in the presence of light gives :

CH,
Cl Cl


https://dl.doubtnut.com/l/_yLE8DKv3UsVD

Ch,

Answer: A

o Watch Video Solution

el NH, - NI
| M, ) ———— B
@ ' a e YT e
46.

Product (B) in this reaction is :

O


https://dl.doubtnut.com/l/_yLE8DKv3UsVD
https://dl.doubtnut.com/l/_ft3L4rfPw4x0

~
o
©/\CH1— OH
C.

OH

Answer: C

° Watch Video Solution

47. Suitable

product of this reaction is :


https://dl.doubtnut.com/l/_ft3L4rfPw4x0
https://dl.doubtnut.com/l/_Q3zz7RKThVIJ



https://dl.doubtnut.com/l/_Q3zz7RKThVIJ

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Q3zz7RKThVIJ
https://dl.doubtnut.com/l/_ajeKyxodjwK3

Me

=
48. {:.I-.l Product (A)

of the reaction is :

sH

CH,

A.

B. no reaction


https://dl.doubtnut.com/l/_ajeKyxodjwK3

CH, - SH

Cl
SH
D. t:l

o Watch Video Solution



https://dl.doubtnut.com/l/_ajeKyxodjwK3

MH.,
Br . (1) NaMNO,, HO
o A » (B),
H,;0 (n) H, PO,
49,

in this reaction is :

Product (B)

Br
B
Br
A.
Br Br
B. T
Br
Br Br


https://dl.doubtnut.com/l/_PxkddPZyOK8Z

Answer: B

° Watch Video Solution

. ."-.ln.;'ﬁ
. —_— e A

NO.,

50. Product

(A) in this reaction is :


https://dl.doubtnut.com/l/_PxkddPZyOK8Z
https://dl.doubtnut.com/l/_wOJ1vJiUhSO5

NO,


https://dl.doubtnut.com/l/_wOJ1vJiUhSO5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wOJ1vJiUhSO5

NH- “-H

NaNO., HCl CE
> (A) (B).

{muild bashc medium ) (Magor

CHs,

51. Product (B)

of this reaction is :



https://dl.doubtnut.com/l/_iA9vPXjHpl5s

O

D.

Answer: B

° Watch Video Solution

O-H

52. {meoe vouatibe )

Product (A) of the above reaction is :

OH
NO,

Ot

NO,

(H)

{hesa volatile |



https://dl.doubtnut.com/l/_iA9vPXjHpl5s
https://dl.doubtnut.com/l/_V51mwqBN7WP8

OH
H: 0,

NO,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_V51mwqBN7WP8

NH,

2]

NO,

53.

product (x) in this reaction is :

NH,

NO,

{ iy - G

Major


https://dl.doubtnut.com/l/_ZbfrtPFj7z7u

E

o

NO,
C.
5\
NO;
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbfrtPFj7z7u

HNO,

LS50,
54,
factor (i) for this reaction is :
A.2
B.3

C.4

D.5

Answer: C

NO,

van't-Hoff

° Watch Video Solution



https://dl.doubtnut.com/l/_ov270JA0am73

NH,

55.

missing reagent is :
A.CF;COsH
B. H,S0,
C.LAH

D. NaBH,

Answer: A

NO,

the

o Watch Video Solution



https://dl.doubtnut.com/l/_UYAEahRK9MNp

CH, O

s Oz NO,

above reaction is an example of Nucleophilic aromatic substitution.

Which of the following halide (-X) is most readily replaced.

A _F
B.—-Cl
C.—Br
D.—1I
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_P1k2HcRBqUzt

57. When comparing the hydrogenation of benzene with that of a

hypothetical 1, 3, 5-cyclohexatriene, benzene than the

cyclohexatriene.

A. absorbs 152 kJ/mol more heat

B. gives off 152 kJ/mol more heat

C. absorbs 152kJ /mol less heat

D. gives off 152 kJ/mol less heat

Answer: B

o Watch Video Solution

58. Which of the following hydrogens is most easily abstracted on

reaction with bromine free radicals, Br* ?


https://dl.doubtnut.com/l/_QJdxYI7wMxfW
https://dl.doubtnut.com/l/_4womUGpEwE7E

D.d

Answer: B

° Watch Video Solution

59. The electrophilic aromatic substitution proceeds through a:

A. free radical

B. sigma complex


https://dl.doubtnut.com/l/_4womUGpEwE7E
https://dl.doubtnut.com/l/_zCdk95WVlEzW

C. benzyne

D. carbene

Answer: B

° Watch Video Solution

60. Which of the following substitution of benzene is ortho-para in

electrophilic substitution and ortho-para in nucleophilic substitution ?

A.—NO,
B.—-NO
C.—SOsH
D. — SOgMG
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zCdk95WVlEzW
https://dl.doubtnut.com/l/_5kQE44o1Rasy
https://dl.doubtnut.com/l/_pFdO2qIp5Dj9

61. The number of possible isomers of dichloronitrobenzene is :

A3
B.4
C.6

D.8

Answer: C

° Watch Video Solution

62. Which of the following is not an aromatic compound ?


https://dl.doubtnut.com/l/_pFdO2qIp5Dj9
https://dl.doubtnut.com/l/_xjpe9b4ShSvJ

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xjpe9b4ShSvJ

63. Consider the following sequence of reactions.

_.COOH )
1. 300, A Zn-HE__’B
2 anhyd. 433, Comc HCI

CH,CgHs

The end product (B) is:

©
J &
© ©

@g

CH, Cylls

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dasBqdO1iAA4

AlCl
64. Ph — NO, — Et — Cl —" (A), Product (A) of the given reaction is

A.Ph — NH — Et

B. no reaction

NO,


https://dl.doubtnut.com/l/_ij9lc3SyDqW2

Answer: B

° Watch Video Solution

65. In nitration of benzene by mixed acid the rate of reaction will be :

B.C¢Hg > CgDg > CgTy

C.CsH; = CgDg > CoT

D.CeHg < CgDg < CgTy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ij9lc3SyDqW2
https://dl.doubtnut.com/l/_Im7CE68RRrui

NH,

H 35
150y A)

A.Ph— N= — CN

|
C

B.Ph— N=C—-PH
C.Ph-N=N-Ph

D.Ph —CH = CH - Ph

Answer: A

Product (B)

° View Text Solution

67. Which of the following ring compounds obeys Huckel's rule ?

A CH, !

B.C,H,""


https://dl.doubtnut.com/l/_VOL9AfPp6vSL
https://dl.doubtnut.com/l/_3AuEUr9l7M32

C.O,H,

D. C4H4

Answer: C

° Watch Video Solution

68. Nitration of which of the following reactant gives maximum % of meta

product (using HNO3 / HyS04 ) ?

A. Toluene

B. Aniline

C. Benzene

D. Isopropyl benzene

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3AuEUr9l7M32
https://dl.doubtnut.com/l/_Mg7Q0BKq67GS
https://dl.doubtnut.com/l/_wZzvgWIdypXq

Ph
Ph
69. Br
(x) will be :
Ph ~Fh
3
A Ph Ph
Ph
©)
Ph Ph
B.
Ph
@
c P P
Ph-
<)
Ph

compound


https://dl.doubtnut.com/l/_wZzvgWIdypXq

Answer: A

° Watch Video Solution

(1) CO,
(2) H*

= (A)

70.

Which of the following is true statement about the reaction ?

A. Ortho isomer is major if PhoNa is used

B. Para isomer is major if PhOK is used

C. Product formed is further used for preparation of drug aspirin

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wZzvgWIdypXq
https://dl.doubtnut.com/l/_kRyGyR41fOpa
https://dl.doubtnut.com/l/_wiKDnIs0RjbO

71. Two benzyne intermediates are likely to be formed equally. Reaction
with amide ion can occur in two different directions with each benzyne,
giving three possible products. They are formed in a 1:2:1 ratio. Asterisk (*)
refers to C .

NaNH,

Cl ——— (A)
NH,

Product major,

product (A) is :

H,


https://dl.doubtnut.com/l/_wiKDnIs0RjbO

C.
NH,
D. "'
Answer: B

° Watch Video Solution

72. Which one of the following undergoes nucleophilic aromatic

substitution at the fastest rate ?


https://dl.doubtnut.com/l/_wiKDnIs0RjbO
https://dl.doubtnut.com/l/_qOgNA0FcXSYc

Cl

NO,

Cl


https://dl.doubtnut.com/l/_qOgNA0FcXSYc

C.

L
zi]
l

:I']

Answer: A

D.

o Watch Video Solution



https://dl.doubtnut.com/l/_qOgNA0FcXSYc

73. For the reaction,

combination of reactants is :

A.CsHsBr + HNO3 + H2504

B.C¢HsBr + HQSO4, heat

C.CsH5NO> + Bro, FeBrs

D.C¢Hs NOy + HBr

Answer: A

o Watch Video Solution

74.The action of AlCI3 in Friedel Craft's reaction is:


https://dl.doubtnut.com/l/_seglbgPXuNEp
https://dl.doubtnut.com/l/_xTxVe0X4VKDo

A. to absorb HCI

B. to release HCI

C. to produce electrophile

D. to produce nucleophile

Answer: C

o Watch Video Solution

75. n-Butylbenzene on oxidation with hot alkanine KMnQO, gives :

A. benzoic acid

B. butanoic acid

C. benzyl alcohol

D. benzaldehyde

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_xTxVe0X4VKDo
https://dl.doubtnut.com/l/_k81BL8gC1jWU

76. Which sequence of steps describes the best synthesis of 2-

phenylpropene ?

(n) Benzene + 2-chloropropene , AlCl,
(b} 1. Benzaldehyde (C,H,CH = 0) + CH,CH ;MgBr, diethyl ether

2. H,0' 3. H,S0,, heat

{c) 1. Bromobenzene + Mg, diethyl ether 2. Propanal (CH,CH;CH = O)
3.11,0° 4 H,S0,, heat

{d) 1. Bromobenzene + Mg, diethyl ether 2. Acetone [(CH 4 ),C = O]
3.H,0" 4. H,SO,, heat

° Watch Video Solution

77. What are the products of the following reaction ?

excedd [ {Hr

CH,CH,OH >

et

= )-octtat,m
A

< >—Br + BrCH,CH,OH
B.

@—{JH + BrCH,CHyBr

Or + BrCH,CH,Br

C.

D.


https://dl.doubtnut.com/l/_k81BL8gC1jWU
https://dl.doubtnut.com/l/_JydpdR4jGi8L
https://dl.doubtnut.com/l/_Cqr8fnTqG6hu

Answer: C

° Watch Video Solution

78. What is the product obtained by heating the following allylic ether of

phenol ?

e

H
éj}rl.am = CHCgHs
A.

H IJ‘_I"i'l-;—li-

CH = '[:H:

CeHs
E CH,CH = CH,
C.

Cylg

|
D }IO—QCHCH = CH,


https://dl.doubtnut.com/l/_Cqr8fnTqG6hu
https://dl.doubtnut.com/l/_CdptqjhQIGNJ

Answer: B

° Watch Video Solution

79. When you ingest aspirin, it passes through your stomach, which has
an acidic pH, before traveling through the basic environment of your

intestine. Provide the structure form as it exists in the intestine.

i
) fl CH,
~L0,4H
A
OH
CO,CH,
B.
J
Q-0 -CH,
0


https://dl.doubtnut.com/l/_CdptqjhQIGNJ
https://dl.doubtnut.com/l/_TUGJY0AHrB4f

Answer: C

° Watch Video Solution

80. Which of the following sets of reagents, used in the order shown,

would be enable for the preparation of p-chlorophenol from p-

chloronitrobenzene ?

A 1. Fe, HCl, 2. NG,OH, 3. NCLNOQ, HQSO4, 4. H3P02

B.1. Fe, HCl, 2. NaOH, 3. NaNO,, H,SOy, 4. H,0, heat

C.1. Fe, HCI, 2. NaOH, 3. NaNQO,, HySO, , 4. ethanol

D. 1. NaOH, heat, 2. HCI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TUGJY0AHrB4f
https://dl.doubtnut.com/l/_i5mNCrfxz7Yl

81. Which one of the following compounds undergoes bromination of its

aromatic ring (electrophilic aromatic substitution) at the fastest rate ?

A. i :
B. H
C.
<o!
D.
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_i5mNCrfxz7Yl
https://dl.doubtnut.com/l/_RSo93NcrAnqb

L&)
[
__Giy L‘.E._*gp}-l‘}%w_.l__,{ql

82. Product

(Q) in this reaction is :

- Me

OMe


https://dl.doubtnut.com/l/_0mYS2YbxdMXN

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_0mYS2YbxdMXN

NO,

&, |
The product (P) will be :

NO,

A 4

NO,
;lj "OCH,
. Cl


https://dl.doubtnut.com/l/_l90wBRyKRGNj

Ha
C. ol
: OCH,
OCH,
Answer: A

° Watch Video Solution

NaNO,
@-cuz-m CH, — )
_ 1, o

Product (A) is :


https://dl.doubtnut.com/l/_l90wBRyKRGNj
https://dl.doubtnut.com/l/_eSZlDdwwjMA0

A Ph—CH,—- — CH,— Ph

N=0O
B.Ph—CHys — N—-N=0
Ph
N /_,cal_ph
Ph - CH, - N
'\\‘un - Ph
C. N=0 T2
D.Ph— N =0
Answer: C

° Watch Video Solution

NH, -
@ + NaNO, + HCl —— C[:EN

NH, |

5 H

This reaction is example of :

85.

A. Intermolecular C-N coupling

B. Intramolecular C-N coupling

C. Intermolecular N - N coupling


https://dl.doubtnut.com/l/_eSZlDdwwjMA0
https://dl.doubtnut.com/l/_XLbjFqaSZKTt

D. Intramolecular N - N coupling

Answer: D

° Watch Video Solution

86. The total number of possible isomeric trimethyl benzene is

A2
B.3
C.4

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XLbjFqaSZKTt
https://dl.doubtnut.com/l/_KHQbhN3cvyIP

87. Caliene, C7Hg , is expected to be a fairly polar aromatic molecule.
Which of the following resonance forms contributes to the greatest

extent towards the real structure (resonance hybrid) of the molecule ?


https://dl.doubtnut.com/l/_f0ZvoAFAiUVe

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_f0ZvoAFAiUVe

88. Which of the following molecules is expected to have the greatest

resonance stabilization ?

O

(@ge

O=C
.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_pc1qEVAeoqgB

89. In the reaction given below, the major product formed is :

Bar (1 mowisle |
@H@ " * Product,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4H4bQh7SMS8a

90. p-aminophenol reacts with one equivalent of acetyl chloride in the

presence of pyridine to give mainly:

OCOCH.,
MNH.
N H.,
O c|?
C - CH,4
B. HHI
C.
Ol
NHCOCH,
D. None

Answer: D



https://dl.doubtnut.com/l/_cAZKeDk33ZPF

| ° Watch Video Solution

91. Which of the following reactions can be used to prepare

acetophenone ?

1. AlCly
A.CsHs + CH3COCl ———
2.H,0

heat

B. (CsH;C0O0),Ca + (CH3C00),Ca —>

1.CHsMgI
C.C¢HeCN —
2.H30"

D. All of these

Answer: D

o Watch Video Solution

92. Consider the following sequence of reactions.

HsPO 1.05.h
CsHg + CH;CH = CHy ———% A 2 B4+ C
heat 2.H3;07"  heat

The products (B) and (C) are:


https://dl.doubtnut.com/l/_cAZKeDk33ZPF
https://dl.doubtnut.com/l/_wAJV3fnYcCSQ
https://dl.doubtnut.com/l/_jGM04nLKK9ib

A. benzaldehyde and acetaldehyde

B. benzoic acid and acetic acid

C. phenol and propionaldehyde

D. phenol and acetone

Answer: D

o Watch Video Solution

93. An organic compound having the molecular formula CsH;O on
being heated with I, and dilute NaOH gives a yellow precipitate. The

expected compound is :

A. CsHyCH,CH,OH

CHLOH


https://dl.doubtnut.com/l/_jGM04nLKK9ib
https://dl.doubtnut.com/l/_DCRVx6Xpl6Oc

@m 1OHCH,
D.

Answer: D

° Watch Video Solution

94.The product (B) of the reaction sequence is :
ﬂ—@—CHzﬂr — 0 AL g
IHJUI

(e )3
A CH4CH @m,ﬂr

@)
B. 2 3

CIIﬁH‘@*CHJCHCHJ
c OH {-!)H

ctmct <O
D. 2 2!

Answer: B

| o Wik L\ dan C Al iklmn


https://dl.doubtnut.com/l/_DCRVx6Xpl6Oc
https://dl.doubtnut.com/l/_xs5CUxE1UkQC

L ¥Yvdalilll VIUCUV JViuLivii )

95. Consider the following sequence of reactions.

OsO, 1. HIO, k
m NaHS50, b A E.Hﬂ-l.hnr._'ﬂ‘
CHy .

product (B) is :

The final

COOH
N COCH,
CH,CHO
: :E{}CHS
B.

C. 0


https://dl.doubtnut.com/l/_xs5CUxE1UkQC
https://dl.doubtnut.com/l/_CNKXUHJmiQhk

@ COOH
COOH

Answer: C

° Watch Video Solution

96. For the reaction, the product expected is :

O L Mebghe @ mole) , oy oy

1 MW, 0
8]

A Me OH


https://dl.doubtnut.com/l/_CNKXUHJmiQhk
https://dl.doubtnut.com/l/_My3GHDHYOLXc

B. Me OH
0

Me Me

C.
OH
I
':-"l:Hj

O e
C=—0H
il
8]

D.

Answer: D

° Watch Video Solution

97. Hydrogenation of naphthalene (P) with excess hydrogen gas stops

cleanly at 1, 2, 3, 4-tetrahydronaphthalene (Q). What conclusion can be


https://dl.doubtnut.com/l/_My3GHDHYOLXc
https://dl.doubtnut.com/l/_iDiJPug54jMp

drawn from this experiment ?

PECESS !l: R
Pd — C (cat.)

(P ()

A. the hydrogenation of P is exothermic

B. one aromatic ring of P is more reactive than the aromatic ring of Q

C.one aromatic ring of P is less reactive than the other ring of Q

D. reduction of the first C = C of P is faster than reduction of the

second or third C=C

Answer: B

o Watch Video Solution

98. Suggest the best reaction conditions for the synthesis shown below.

Hﬂ'_ll_

Br


https://dl.doubtnut.com/l/_iDiJPug54jMp
https://dl.doubtnut.com/l/_Y3dOc0p6BokI

A (].)HNO3, H2502 ,then (2) B’l"2
B. (1) Bra,then (2) HN O3, Hy,SO,
C. (1)CH3B’I‘, AlB’I’3, then (2) HNO3, H2503

D. HNO3, H2SO2, then (2) B’l"2, FGBT3

Answer: D

o Watch Video Solution

Cl

99,

In the above compound Cl will liberated easily in the form of:


https://dl.doubtnut.com/l/_Y3dOc0p6BokI
https://dl.doubtnut.com/l/_8Z3gLqPeLc1f

A.Cl

B.Cl™

c.Clt

D.CI*™

Answer: B

o Watch Video Solution

100. Consider the following sequence of reactions:

PhCO H—- Pa , 4 1FaOag hemt g
2. MH, 3 H:-.I'H

product (B) is :

A. benzonitrile

B. benzylamine

C. aniline

D. benzamide

The

final



https://dl.doubtnut.com/l/_8Z3gLqPeLc1f
https://dl.doubtnut.com/l/_3trKI9NkKHGx

Answer: B

° Watch Video Solution

101. The major product of the acetylation of salicylic acid with

Ac,O(/)H ™ followed by heating with anhydrous AICl; is :

COOH
OH

O

COOH
OH

COOH

OH


https://dl.doubtnut.com/l/_3trKI9NkKHGx
https://dl.doubtnut.com/l/_cBAtLVQ4yZ80

0 COOH

)k@/cm
D.

Answer: B

° Watch Video Solution

102. Which one of the following statements is True:

A. PhLi adds to both compounds with equal ease

B. PhLi does not add to either of the compounds

C. PhLi reacts readily with 1 but does not add to 2

D. PhLi reacts readily with 2 but does not add to 1

Answer: C

| ° Wiak~h \tAAA CAlLiikiAan


https://dl.doubtnut.com/l/_cBAtLVQ4yZ80
https://dl.doubtnut.com/l/_wmmQthWcvmkT

| & AAA-LASIEER LA YA iVIL"LLYiN] J

103. The major product expected from the mono-bromination of phenyl

benzoate is :

Br
ORE®
A

RoRC
ERORE
o . @—cou@—ﬁr

Answer: D

° Watch Video Solution

104. The Birch reduction of benzoic acid gives :

C>— COOH

A


https://dl.doubtnut.com/l/_wmmQthWcvmkT
https://dl.doubtnut.com/l/_wsCBKh4yJwkK
https://dl.doubtnut.com/l/_wsMYQwGPwIoa

() coon
B.

C.
D.

Answer: A

° Watch Video Solution

105. The decreasing order of reactivity of meta-nitrobromobenzene (I),

2,4 6-trinitrobromo benzene (ll), para-nitrobromobenzene (lll), and 2,4-

dinitrobromobenzene (IV) towards HO ™~ ions is:

AlgtligtllgtIV

B.llgtlgtlligtl

C.IVgtligtilgtl


https://dl.doubtnut.com/l/_wsMYQwGPwIoa
https://dl.doubtnut.com/l/_Mf80RQfS5eh0

D.ll gt IVgtlgtlll

Answer: B

° Watch Video Solution

106. Which of the following tetracarboxylic acid form di-anhydride :

COOH
COOH
COOH
A COOH
COOH
COOH
COOH
B. COOH

C. neither (a) nor (b)

D. both (a) and (b)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Mf80RQfS5eh0
https://dl.doubtnut.com/l/_jG1GQm07Mt0J

CO,H

OH
107.
(A) is :
0
C—I
[
A
CO,H
OH
cl cl

unknown


https://dl.doubtnut.com/l/_jG1GQm07Mt0J
https://dl.doubtnut.com/l/_BIlxmpELxYeQ

co,H
OH

CO,H

Answer: C

o Watch Video Solution

H* /D

derivative), Product (P) is :

NH,
CPh,

underset("major")(P)’ (not a N-


https://dl.doubtnut.com/l/_BIlxmpELxYeQ
https://dl.doubtnut.com/l/_btzOTNDtTWis

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_btzOTNDtTWis

109. Deduce structure of (A).

KMnO. Br
(A)CgHq 5 BCgHO, —Fz> CeHsBrO, (C) (one-product only)


https://dl.doubtnut.com/l/_yTV8UljntxNt

Answer: B

° Watch Video Solution

110. The deamination of Phy,C(OH)CH,NH, with NaNO, — HCI
gives a product (P), which on oxidation gives benzoic acid only. Identify

the product (P).

A.Ph — CH, — CH, — Ph

(0]
]

B.Ph — C — CHy — Ph
a1

C.Ph—-C—-C—-Ph

D. Ph — CH, — NH — Ph


https://dl.doubtnut.com/l/_yTV8UljntxNt
https://dl.doubtnut.com/l/_98oRsN1d3teQ

Answer: B

° Watch Video Solution

SOCl» MesNH (C)
\ \

M. Ph—COH 5" A ;' B— Ph— CHO

reagent (C) is :

A LiAlH,
B. NaBH,
C. LiAlH(t — BuO),

D. PCC/CH,Cl,

Answer: C

’

unknown

° Watch Video Solution



https://dl.doubtnut.com/l/_98oRsN1d3teQ
https://dl.doubtnut.com/l/_g9b4rOfATB5f

CH,CH,
CH,CH,4

CH,CH,
12. Product (B) is :

Product (B) is :

0
I
H,—C—0a (A) NH, — NH,, NaOH
AN, | B0%) methylene ghycol. heat


https://dl.doubtnut.com/l/_RWR0qBHlyka3

Answer: B

° Watch Video Solution

0

il
CeHs5(CH,)sC-C1—A, (4) —XM20,D ,(p).

S g0 W0t
113.

Compound (B) is :

ICI— (CH2)4 - COzl"


https://dl.doubtnut.com/l/_RWR0qBHlyka3
https://dl.doubtnut.com/l/_AyJCLxPbgYjd

C.
0
I
,,:/
Il
D. 0
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_AyJCLxPbgYjd

HNO, NO;

H, 50,

1, Ser i |

114. e

In the above reaction o/p ratio will be highest when :
B.R - - CH2 - CH3
C.R = — CHMe,

D.R = — Cme;s

Answer: A

° Watch Video Solution

CO.H
oy e gy S g3 RN L)
115 noP (2] Ky Pd
. HO

product (4) in the above reaction is :


https://dl.doubtnut.com/l/_0s3o43XlaYTv
https://dl.doubtnut.com/l/_ACugQ69Ci1NM

B.
[+]
NH: U NH — Bt
C — 0
o]
Nou ||
i ,C — NEg,
_/™o
D.
Answer: B

° Watch Video Solution

Cl
Br
cl
— —> (A),
O - A

Product (A) of the reaction is :

116.


https://dl.doubtnut.com/l/_ACugQ69Ci1NM
https://dl.doubtnut.com/l/_ssUuNXxsD59q

o
o

Answer: B

C

° Watch Video Solution



https://dl.doubtnut.com/l/_ssUuNXxsD59q
https://dl.doubtnut.com/l/_lVUvSCRW3Zbl

Ph - CHO + 2 —Hadey

17. major

product of this reaction is :

A PhyCH

Ph

T
Ph-C -

Ph

C.

D. PhoCH>


https://dl.doubtnut.com/l/_lVUvSCRW3Zbl

Answer: A

o Watch Video Solution

NH,
NN
@ _1__0_. (A).
118.

Product (A) of this reaction is :


https://dl.doubtnut.com/l/_lVUvSCRW3Zbl
https://dl.doubtnut.com/l/_84f5chuwUsSz

Ow
@/\/\m

D.

Answer: B

° Watch Video Solution

NO,

NO,
119.

Compound (X) is :

A. 1,2,4-Trinitrobenzene

B. 1,3,5-Trinitrobenzene

HNG, M0, | oo,

ltve daym
bk cormpleie



https://dl.doubtnut.com/l/_84f5chuwUsSz
https://dl.doubtnut.com/l/_700gHNNsmWN1

C.1,2,3 -Trinitrobenzene

D. Tri-nitro toluene (TNT)

Answer: B

° Watch Video Solution

l | WHC Pa H KOH/MeOH .

Compound (C) is

120.

o]

Il
Ph CH, — C —=
A. -

)
I
B.Ph—CH =CH - C - CHs

0
I
Ph —C

—<

0
I
D.Ph—-C —-CH =CH — CH;

Answer: C


https://dl.doubtnut.com/l/_700gHNNsmWN1
https://dl.doubtnut.com/l/_8RVudW7a9k4D

° Watch Video Solution

0
gy
0 —g, (A
121. O
Compound (C) is
H
|
A. CH — N
Ph
|
C

Answer: B

() Pl

NH; -MH,

(6} Hy /P - BaSOy,

+ B -

=+{C ]



https://dl.doubtnut.com/l/_8RVudW7a9k4D
https://dl.doubtnut.com/l/_P8lDDinjYFD1

I ° Watch Video Solution

OH
() ag NaHOOy /ool ()
OH HyO' melfaet )
122.

(A) in this reaction is :

O
Q.
CHO
A.

OH

Product

OH
COzH


https://dl.doubtnut.com/l/_P8lDDinjYFD1
https://dl.doubtnut.com/l/_rSPzLabqcpKF

OH
OH

D. No reaction

Answer: B

° Watch Video Solution

v

NO, (&

7 ‘RI u

123. , ldentify

position where attack of (ArO — ) is favourable.


https://dl.doubtnut.com/l/_rSPzLabqcpKF
https://dl.doubtnut.com/l/_udPawSusRj8f

Answer: C

° Watch Video Solution

(4)
MO, NO5
124. Product
(A) of this reaction is :
SH
NO,


https://dl.doubtnut.com/l/_udPawSusRj8f
https://dl.doubtnut.com/l/_l7FBZhphbrQf

B.

SH

NO4
C.

NO,
NO,
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l7FBZhphbrQf

Hf'l"“'-_.. 1[.*}—?41!"“ . |IB|I,
T H, H-CI it

Product

(B) of this reaction is :

_M,r-

NH,


https://dl.doubtnut.com/l/_l7FBZhphbrQf
https://dl.doubtnut.com/l/_Hnc4AyBzv9Tz

O=(C — Me
NO,
CH,

— Me
NO,

C

D.

Answer: B

o Watch Video Solution

JHN = CH - €1 — M9 o4y —ta? ),

126. Product

(B) of this reaction is :


https://dl.doubtnut.com/l/_Hnc4AyBzv9Tz
https://dl.doubtnut.com/l/_wD98uBgl15vN

Me

CHO
CH,
CHO

C. no reaction

=L — Me

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wD98uBgl15vN

CH,CO,H
OO0 oz sz o= o
o () Mbel il H™ (i} ABCLy
127.

End product of the above reaction is :

Q0

{:I. 5

5

©,
©,

C

C

Answer: C


https://dl.doubtnut.com/l/_wD98uBgl15vN
https://dl.doubtnut.com/l/_g7Oo5e9xhqc7

° Watch Video Solution

Ph-NH, — Sl G Gmoie) ) P-NiG , (B (major)
128. Bty yollon

Product of the above reaction is :

Me — N—Me
@,N=~N—Ph
A.
Me — N — Me
N @N_N_m
Me — N — Me
N == N — Ph
C.
Me
Me— W% N NP
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_g7Oo5e9xhqc7
https://dl.doubtnut.com/l/_UeirRzckFbjs

129. p-Toluedine reacts with benzene diazonium chloride to form

compound, which on boiling with aq. H,SO, give ......... products :

A3

B.2

C.4

D.5

Answer: C

o Watch Video Solution

NO,

g +
ai NH 4 s(A) H:(:'t' v (B) ’;I}?:?m:ﬂ ' (C)
]

130. «l

Product (C) of the above reaction is :


https://dl.doubtnut.com/l/_1OdYTEm2jHeh
https://dl.doubtnut.com/l/_Fzancl2igBIE

Br

Br

Br

NO,
Br
Br

Answer: B



https://dl.doubtnut.com/l/_Fzancl2igBIE

l o Watch Video Solution

H:“:i

(Feneon's reagent)

Major product (B) of this reaction is

OH
Br

OH


https://dl.doubtnut.com/l/_Fzancl2igBIE
https://dl.doubtnut.com/l/_RSISxkaOL8yB

Br
C.
OH
Br Br
Br
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RSISxkaOL8yB

Br
NO,

Br

132. Product of

the given reaction is :

Br
H[ﬁi
OH
A.
OH
NO,
Br


https://dl.doubtnut.com/l/_H73lJk5AbEJH

Br
HO NO,

Answer: B

o Watch Video Solution

W

4+

B ),

NH,
@ __(CHA00);0 ¢4y . HNO: (g
50,
133.

(C) of this reaction is :

Hy0

Product


https://dl.doubtnut.com/l/_H73lJk5AbEJH
https://dl.doubtnut.com/l/_nnQMJKMefMtI

NO,

NH

NO,

NO,
oW

;

NO,

Answer: B


https://dl.doubtnut.com/l/_nnQMJKMefMtI

° Watch Video Solution

NO,
2 Gmoie) , (4) (major)

134.

(A) will be :

NO,
Br
A Br
NO,
Br Br

Product


https://dl.doubtnut.com/l/_nnQMJKMefMtI
https://dl.doubtnut.com/l/_hY7u0GyjFzu3

NO,

Br
Br
C.
NO,
Br Br
D.
Answer: A

° Watch Video Solution

(i HND, KMo, /A . soa, .
i waso, * A » (B) 1,5(C) !
135. produat)

(C) of this reaction is :

o
NO

F

A

Product


https://dl.doubtnut.com/l/_hY7u0GyjFzu3
https://dl.doubtnut.com/l/_uKM8ygEu15Un

O=C—-Cl
¢,—-’ NOy
B. N
NO,
C.
NO,
D. NG
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uKM8ygEu15Un

Cl

»(A)

NO,
136.

(B) of this reaction is :

CHS\N/GHE

A Ntz
CHy ~CHs
@Nﬁz
B.
CHj ~_ \, - CHy
NH,
C.

D. none of these

Fe
HQ

(B);

Product


https://dl.doubtnut.com/l/_jUunnzhZR34o

Answer: A

° Watch Video Solution

mm_l 2 h_'l.+ EOH &
A (1) NH (B)

137.

Which of the following compound on hydrolysis gives reactant (A):

o}
Il
St
NO, HO

A.

0

OFgnC

B. "o
o
c N0 —0<)
i
D. “@c_o—@""
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jUunnzhZR34o
https://dl.doubtnut.com/l/_4DdN6Y3CX6gy

138, MeO

Product (A) of the above reaction is :

NO,
NO,
Mel
A.
BO©
MeO
B.
MeO
C.
A0
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4DdN6Y3CX6gy
https://dl.doubtnut.com/l/_Fv2yMAbuWoWD
https://dl.doubtnut.com/l/_Kzj56HoTU2yx

Me

O
H/u\ _"_’. :
| Sy
139. H Product of

the reaction is :

B.
ot
o’
o
C.
0
NHAN
Br
D.
Answer: D



https://dl.doubtnut.com/l/_Kzj56HoTU2yx

L = vvatlln viaco S0Iution )

140. , Product

(B) of this reaction is :

4]

I
0 —C — CH,

Y

O


https://dl.doubtnut.com/l/_Kzj56HoTU2yx
https://dl.doubtnut.com/l/_0XfT5Jtm81l9

OH

O=Q

NH;
C.
NH;
OH
D.
Answer: B

° Watch Video Solution

0
@ + | 0 ._.1..5?“*_% M}_M_.m}__ﬁl'_ul__,[c]
0
[suceinic
141. anhydride)

Product (C) of the above reaction is :


https://dl.doubtnut.com/l/_0XfT5Jtm81l9
https://dl.doubtnut.com/l/_uwfpfyqUBXow

A

ce

oC

con

B.

cog

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uwfpfyqUBXow

0
I

@ + )%/cxﬂ —N9 , product;
142.

Product of the above Friedel-Craft reaction is :

@IE%H

I
I~
o

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_mkOTTS9dTCfm
https://dl.doubtnut.com/l/_ZEl986P9RRdM

143. Which of the following 2-halo nitrobenzene is most reactive towards

nucleophilic aromatic substitution ?

F

@,m
G}

A.

NO,

@ml
@,m

1
Br
I

Answer: A

| o Watch Video Solution


https://dl.doubtnut.com/l/_ZEl986P9RRdM

144. Choose the best method to prepare given compound :
"
CH,
CH., CH,

NO,

EHHND blllbl],_.
A 12) Mey CCl/ AKCH

(1) MeyoCl/act,

NG, [H 450,
B.

I
(1) EMy —CH— CHy —CL/NICL,
(2VHNGy /M, 80,

C.


https://dl.doubtnut.com/l/_ZEl986P9RRdM
https://dl.doubtnut.com/l/_YBsCRUpr9Kcd

(1) HND, /580,
mm.-r;cﬂ, —ajna,
s

Answer: B

° Watch Video Solution

CHy
SN, (A) e B0, ) BAL, (D)
145. Hi504  (pury womer) h H™ Benrocaine

Benzocaine has been used as a component of appetite suppressants,

burn and sunburn remedies. Benzocaine is :

CO,Et

g

E


https://dl.doubtnut.com/l/_YBsCRUpr9Kcd
https://dl.doubtnut.com/l/_LqKdvf3pL5NN

|
C— I"IIH
[
]
0
C.
COEL
NH-
D.
Answer: B

° Watch Video Solution

O — CHy

146. OH

(A) of this reaction is :

—a

(A);
Tl

Product


https://dl.doubtnut.com/l/_LqKdvf3pL5NN
https://dl.doubtnut.com/l/_qLRjdTNEbTGD

e

O,
Br

B.

C.

oL,
CH

D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qLRjdTNEbTGD

OCH,4
OCH,

Hijexcess) oo oot
OCH,4 A

147.

Predict major product of the above reaction is :

OH
OH
Ok
A.
I
:
I
B.
CHy


https://dl.doubtnut.com/l/_9mxoXcSHZSL2

Answer: A

° Watch Video Solution

OH

_M .
HH_HE:_' (A} (Major) ;
148. , Product

(A)is :


https://dl.doubtnut.com/l/_9mxoXcSHZSL2
https://dl.doubtnut.com/l/_Is83vSE0XwW4

OH

Q
_”“_ =
{0r-2 b o

NO,

©


https://dl.doubtnut.com/l/_Is83vSE0XwW4

Answer: C

° Watch Video Solution

149. Arrange in their decreasing order of rate in SNAr.

cl cl cl a a
0. O0"0 g
NO,
NO, NO, NO,
(i) (i}

(1] L] {vl

Aligtiigtivgtiiigtv
B.iigtigtiiigtvgtiv
C.vgtiiigtigtiigtiv

D.vgtiiigtiigtigtiv

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Is83vSE0XwW4
https://dl.doubtnut.com/l/_JAXA30F1xfhy

150. Which one of the following compounds undergoes bromination of its

aromatic ring (electrophilic aromatic substitution) at the fastest rate ?

A.

M
B H

@’
C.
NH
D L
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_53pB8CV4rEh4
https://dl.doubtnut.com/l/_8qzbqDQZA1Ax

151. What is the product of the following reaction ?

CH,

f
O+ -T2

p OO

ocH,

CHy OCH,
|
C @—CHCH2
i~y

Answer: D

o Watch Video Solution

152. Which sequence represents the best synthesis of 4-

isopropylbenzonitrile ?


https://dl.doubtnut.com/l/_8qzbqDQZA1Ax
https://dl.doubtnut.com/l/_ikE69NmFBwnr

{E!-I;J;E'I-[ —@— Cesa N
4- sopropylbenzonitrile ¢

° Watch Video Solution

CHy
Br
I. Mg/Ether
Ll - A, Product A is :
2. Hyot
3. KMnO, [ OH
153. 4 H Product A
is:
COOH
i JOH
A.
OH


https://dl.doubtnut.com/l/_ikE69NmFBwnr
https://dl.doubtnut.com/l/_wkNoZCE57Gt7

COOH

Answer: C

o Watch Video Solution

1. Adr, V30q. A
Tri,a
i-li.ﬂ.

154. Product A



https://dl.doubtnut.com/l/_wkNoZCE57Gt7
https://dl.doubtnut.com/l/_Rahoa0iav1DS

CO~_
WNH
co ~
@C COOH
NH,
: COOH

C. CONH,
8]
]
o]
‘ NH

Answer: B

o Watch Video Solution

155. What is correct order of rate of nitration of the following compounds

?

A — C(;H5CH3, B — CGHG, C - CﬁDﬁ, D — C@Tﬁ, E — 06H5B’r’3, F — Cgi


https://dl.doubtnut.com/l/_Rahoa0iav1DS
https://dl.doubtnut.com/l/_quio1g4j4K0X

AG>A>B>C>D>F>F

BBG>B>C>D>A>F

CG>A>B=C=D>FE>F

DDG>A>B>C=D>FE>F

Answer: C

o Watch Video Solution

cocCl
[man s

156.

is :

A
B.

Product Y


https://dl.doubtnut.com/l/_quio1g4j4K0X
https://dl.doubtnut.com/l/_tv5BatJKXzGE

C.
D.
Answer: C

o Watch Video Solution

157. Compound A (C7H3gO) is insoluble in water, dilute HCl & aqueous
NaHCOs , but it dissolves in dilute NaOH. When A is treated with Brs
water it is converted into a compound C7HsOBrj3 rapidly. The structure

of Ais:

OCH,4


https://dl.doubtnut.com/l/_tv5BatJKXzGE
https://dl.doubtnut.com/l/_7buG9Q7DviSV

OH
(jm]
B.
OH
QL
C.
OH
D. m:‘

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7buG9Q7DviSV

158. Give the product of the following reaction sequence :

i mdﬁill. S0,
.- -—-iﬂ Ll
1uﬂlﬂ,ﬁ

5 MeMghi
. M40

CO4H
A f
E
B.
5-::.:r:-;:-l
C.


https://dl.doubtnut.com/l/_pLHdyz3KKx9o

OH

Answer: B

o Watch Video Solution

159. Give the product of the following reaction sequence:
1 mﬁm,m.
1 Bey [Felley .
3 Ha/
4
5 W

i, K1

Product

Cl
Br


https://dl.doubtnut.com/l/_pLHdyz3KKx9o
https://dl.doubtnut.com/l/_HZ2Ok4IW2IWF

Br Cl
B.
1
Cl
C. Br
Br
Cl

D. l

Answer: C

o Watch Video Solution

160. Which represents an intermediate formed in the reaction of toluene

and chlorine at elevated temperature in sunlight?

H,
cl

A @


https://dl.doubtnut.com/l/_HZ2Ok4IW2IWF
https://dl.doubtnut.com/l/_mE3YktK6w7ZS

CH
oK)
B.
C.
2]
(O
D.

Answer: C

° Watch Video Solution

161. The decreasing order of reactivity of meta-nitrobromobenzene (l),

2,4 .6-trinitrobromo benzene (Il), para-nitrobromobenzene (lll), and 2,4-

dinitrobromobenzene (IV) towards HO ™~ ionsis:

AlgtligtllgtIV

B.llgtlgtlligtl

C.IVgtligtingtl

D.ll gt IVgtlgtlll


https://dl.doubtnut.com/l/_mE3YktK6w7ZS
https://dl.doubtnut.com/l/_SGFDSTkauC2l

Answer: B

° Watch Video Solution

162. Which one of the following compounds is most reactive for ArSpy»

reaction ?

Cl

NO,

Cl

NO;



https://dl.doubtnut.com/l/_SGFDSTkauC2l
https://dl.doubtnut.com/l/_2Fgt7FhureS9

NO,
NO,
C.
Cl
NO,
D.
Answer: C

° Watch Video Solution

163. Which one amongst the following carbocations is most stable ?

]
CeHs —CH—CgHq
A


https://dl.doubtnut.com/l/_2Fgt7FhureS9
https://dl.doubtnut.com/l/_G6om6Nqhxbsf

b
CHy —C —CH,

>—¢

Answer: D

° Watch Video Solution

164. Cyclopentadiene is much more acidic than cyclopentane. The reason

is that :

A. cyclopentadiene has conjugated double bonds

B. cyclopentadiene has both sp? and sp? hybridized carbon atoms


https://dl.doubtnut.com/l/_G6om6Nqhxbsf
https://dl.doubtnut.com/l/_dlBiItfxtJAO

C. cyclopentadiene is a strain-free cyclic system

D. cyclopentadienide ion, the conjugate base of cyclopentadiene, is an

aromatic species and hence has higher stability

Answer: D

o Watch Video Solution

/@/cocn, /@,m, /@/oocu, /@/ma
CHy0 HaC 0N Me,N
m an () )

165.

Friedel-Crafts acylation reaction can be used to obtain the compounds

A Il I and IV
B.I, Il and IV
C.land Il

D. Il and Il1.

Answer: C



https://dl.doubtnut.com/l/_dlBiItfxtJAO
https://dl.doubtnut.com/l/_R8MLZvqwfhRp

I ° Watch Video Solution

166. The major product of the reaction is :

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_R8MLZvqwfhRp
https://dl.doubtnut.com/l/_wrM7I3fqPF8u
https://dl.doubtnut.com/l/_092Tv7SaGRmw

167. The decreasing order of reactivity of given compound towards

nucleophilic substitution with aqueous NaOH is :

Br Br Br Br
O;N NO, NO;
NO,
NO, NO; NO,
n oy nmn (n

AlgtligtlllgtIV

B.llgtIgtlligtl

C.IVgtligtilngtl

D. Il gt IVgtlgtlll

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_092Tv7SaGRmw

168. Identify the end product (B) of the following sequence of reactions.

Okl

cone. HaS0, . 4 Bry/H:0 B
L C [zl
OH
Br. Br
S0.H
A ’
OH
Br Br
Br
B.
OH
S0,H
Br


https://dl.doubtnut.com/l/_yjIER11bTm3Z

OH
Br Br

Br

Answer: D

° Watch Video Solution

169. Consider the following sequence of reactions :

COOH
s0Q; 4 _1Ndy g IS

CHCHs TS

The end product (C) is :

0

O

A Cetls


https://dl.doubtnut.com/l/_yjIER11bTm3Z
https://dl.doubtnut.com/l/_OIvmdlMo00xq

N CeHs
0
108G
e8¢
D.
Answer: D

° Watch Video Solution

170. For the diazonium ions the order of reactivity towards diazo-coupling

with phenol in the presence of dilute NaOH is :

wor{Qyi on <Dt (D Gy
an (o {v)

{n

A LIEIVIEINIE NI

B.LIt It vIt


https://dl.doubtnut.com/l/_OIvmdlMo00xq
https://dl.doubtnut.com/l/_K5tDySrzTmw7

Clltritnitiv

DIt IvVIt

Answer: B

° Watch Video Solution

171. Major product obtained in given reaction is :

© Q-

(2 maile)

Ol
©


https://dl.doubtnut.com/l/_K5tDySrzTmw7
https://dl.doubtnut.com/l/_vFMcjDxvTWjU



https://dl.doubtnut.com/l/_vFMcjDxvTWjU

©
C
¢

Answer: B

° Watch Video Solution

172. (A) & (B)

are isomers. Product (B) is :


https://dl.doubtnut.com/l/_vFMcjDxvTWjU
https://dl.doubtnut.com/l/_fHIEPEtTxsZA

@.X.u@nc


https://dl.doubtnut.com/l/_fHIEPEtTxsZA

Answer: A

° Watch Video Solution

173. The step shown below is a recent synthesis of corannulene.

‘g-e. —W[Jﬁ.-} EEHID
LA}

Product (A) is :


https://dl.doubtnut.com/l/_fHIEPEtTxsZA
https://dl.doubtnut.com/l/_TWOQbNtYxDMW

95 Qs Q5 Ao
< o J D.m



https://dl.doubtnut.com/l/_TWOQbNtYxDMW

T

ﬁ.,.-.'

b

174.

Identify the position where E.ASS. will take place :

C.c

D. all the position are identical

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RUiZTrWerWl3

14
CH; — COZH {1) KMnOg, HO™, 4
(2 Hy0*
175.

The labelled carbon goes with :
14
A.Ph — CO:H
14
B.CO>
14
C.Ph — CHy — CO2H

14
D. CHg

Answer: B

° Watch Video Solution

4CO,H (CHy), 5‘3!3 5
1 1 v

: What is the expected order of reactivity of the following compounds in

176.

electrophilic chlorination in the presence of FeCl3.


https://dl.doubtnut.com/l/_ikmbL9ziq7rg
https://dl.doubtnut.com/l/_DTXSTOAJFMcr

Al>II>III>1V

B.IV > IIT > 11 > 1

CIII >1>1V > 11

D.II > III >1>1V

Answer: D

° Watch Video Solution

177. Which of the following is the major product from sulfonation of a-

tetralone ?

M50,

Hathp


https://dl.doubtnut.com/l/_DTXSTOAJFMcr
https://dl.doubtnut.com/l/_h0ADjODRrKIX

ot

A.
HO,S
B.
1 IOBS i
C.
D.
Answer: B

° Watch Video Solution

178. Which of the following procedures would be best for the preparation

of phenyl benzyl ether? C¢ H;OC H,Cg H


https://dl.doubtnut.com/l/_h0ADjODRrKIX
https://dl.doubtnut.com/l/_3TQArK52epKk

A. C@Hg,Cl + C’ﬁ.[?[5C’I?[QOi]Va,jL
B. C’6H5O_Na+ —I— 06H5CH2CZ
C. 206H5Cl + NazO

D. 2C6H5MQB'I" + CHQO

Answer: B

o Watch Video Solution

179. Which of the following procedures would be best for achieving the

following reaction ?
CH, CH,-Csm CH,—CH,4
J = J
Br Br

A.KOH and heat (ii) CH3C = C — Br
B. (i) KMnO, and heat (ii) CH;C = C ~ Na ™ (iii) excess H,O
C. (i) NBS in CCl, and heat (ii) CH;C = C " Na™

D. (i) Mg in ether (ii) CH3C = CBr (iii) excess H3 PO,


https://dl.doubtnut.com/l/_3TQArK52epKk
https://dl.doubtnut.com/l/_mrlWCG8ez6qd

Answer: C

° Watch Video Solution

180. Which of the following procedures would be best for achieving the

following reaction ?
CH, 04N CO,H
4
O — X
Cl Cl Br
A.(i) Bry + FeBr3(ii) KMnO4 and heat (iii) HN O3 and H2S04
B. (¢) KMnOy and heat (ii) Brs + FeBrs(iii) HNOs and H2S04
C.(i) NBS in CCly and heat (ii)) KMnQO4 and heat (iii) HNO3 and

H5S04

D. (i) NBS in CCly and heat (ii) NalNO> and heat

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mrlWCG8ez6qd
https://dl.doubtnut.com/l/_RymeAP20Awhp

181. Phenol reacts with acetone in the presence of conc. sulphuric acid to
form a Ci5H140- product. Which of the following compounds is this

product ?

O-CyHs

X

T O-CH,

B.

Cgl
g° s

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ot69BHo1fNgc

182. Heating benzene in a large excess of 80% D550, in D50 results in

what product ?

A CsH;SO3D

B. C4H;OD

C.CyH:D

Answer: D

o Watch Video Solution

183. A solution of cyclohexene in benzene is stirred at 0°C while
concentrated sulphuric acid is added. After washing away the acid and
removing the excess benzene, what product is isolated?

A. cyclohexylbenzene

B. 1-cyclohexylcyclohexene


https://dl.doubtnut.com/l/_GSldd3RSdygh
https://dl.doubtnut.com/l/_VMe8TKND727v

C. trans-1,2-diphenylcyclohexane

D. 1,-diphenylcyclohexane

Answer: A

o Watch Video Solution

184. Indentify the reagents S and p in the scheme below in which R is

converted to the nitrite V via the benzylic halide T.

m)—!l—;mz* -, {0 SO e

R, 5 and p respectively are :

o Watch Video Solution



https://dl.doubtnut.com/l/_VMe8TKND727v
https://dl.doubtnut.com/l/_Vyj1O5Y4q2Ak
https://dl.doubtnut.com/l/_a1Ysv1pc9dFt

185. Two aromatic compounds P and Q give product R.

Gla
+Q—Reagen) | /A
r+a E

Reactant P, 7 and reagent used in above reaction are :

o Watch Video Solution

186. Which of the following CgHg compounds has a single set of

structurally equivalent hydrogen atoms?

© [ wcmecnen—cmc 0D p= O

A.land Il
B.land IV

C.landV


https://dl.doubtnut.com/l/_a1Ysv1pc9dFt
https://dl.doubtnut.com/l/_NOCCad4fXe9v

D. 1, Iland Il

Answer: B

° Watch Video Solution

187. Which of the following compounds would not be considered

aromatic in its behaviour?

=


https://dl.doubtnut.com/l/_NOCCad4fXe9v
https://dl.doubtnut.com/l/_7UWO534jMhs9

o
N
0

Answer: B

o Watch Video Solution

188. A Cs Hip hydrocarbon is nitrated by HNQOs3 and sulphuric acid. Two,
and only two, Cg Hy NO> isomers are obtained. Which of the following fits
this evidence ?

A. ethyl benzene

B. ortho-xylene

C. meta-xylene

D. para-xylene


https://dl.doubtnut.com/l/_7UWO534jMhs9
https://dl.doubtnut.com/l/_ZxisXahMpmNQ

Answer: B

° Watch Video Solution

189. Which of the following benzene ring substituents is deactivating but

ortho-para directing ?

A—N=0
B.—OCHj;
C.—COCH;
D. —NO,
Answer: A

° Watch Video Solution

190. Which of the following compounds forms ortho- benzenedicarboxylic

acid when oxidized by hot aqueous potassium permanganate ?


https://dl.doubtnut.com/l/_ZxisXahMpmNQ
https://dl.doubtnut.com/l/_TACI0kpKaloH
https://dl.doubtnut.com/l/_8g5RE9pnFS5x

Answer: B

° Watch Video Solution

191. Which of the following organic chlorides will not give a Friedel-Craft

alkylation product when heated with benzene and AlCl; ?

A (CH3),CCl


https://dl.doubtnut.com/l/_8g5RE9pnFS5x
https://dl.doubtnut.com/l/_ddsEAIrnWnBf

B.CHy, = CHCH,CI

C.CH3;CH,Cl

D.CH, = CHCI

Answer: C

° Watch Video Solution

192. Which of the following is aromatic ?

L+


https://dl.doubtnut.com/l/_ddsEAIrnWnBf
https://dl.doubtnut.com/l/_e0uU4tJjOn1I

| et 1

B.
s
C.
i oo bene |
D.
Answer: B

o Watch Video Solution

193. Which of the following substance will increase the acidity of phenol ?


https://dl.doubtnut.com/l/_e0uU4tJjOn1I
https://dl.doubtnut.com/l/_7JskqJrsxONs

A.Dil. H,SO,

B. Dil. HCI

C.conc. H,S50,

D.conc. CH3;COOH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7JskqJrsxONs

é §+PhMgBr—n£+F

N

H
Pyrrole

FE+ MeCl — G + H
F + MeCl — no reaction without a nqﬂ’rll

QQ

] J!I—

=) o —

194.

The structure of products E-H, respectively are
A.3,2,6,7
B.4,5,6,1
C.3,4,5,2

D.3,2,4,5

Answer: A

| oo


https://dl.doubtnut.com/l/_HtRBXzXRv3Sf

I & Watch Video Solution ]

&@ ) --::- ’ I:‘*}:
195. Product A
o0
OH
None
feoe

D. none of these

Answer: C



https://dl.doubtnut.com/l/_HtRBXzXRv3Sf
https://dl.doubtnut.com/l/_pGDOCysEy2ny

| ¥ Vvvatlcn Video solution



https://dl.doubtnut.com/l/_pGDOCysEy2ny
https://dl.doubtnut.com/l/_EuzKhQ3Hrmfe

OH

Answer: B

° Watch Video Solution

197. Product obtained in the following transformation is :

m FPA PPA = polyphosphoric acid
Ph

Ph

B. Ph


https://dl.doubtnut.com/l/_EuzKhQ3Hrmfe
https://dl.doubtnut.com/l/_4eozSyWsrb5k

Answer: B

° Watch Video Solution

198. The compound X in the reaction.

anhydrous AN,

=~ Il » X

Cl


https://dl.doubtnut.com/l/_4eozSyWsrb5k
https://dl.doubtnut.com/l/_rYdVM7cEuprM

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_rYdVM7cEuprM

199. Complete the following

OH OH
B Br

+ 3Br, —- +3HBr

Bi

A. Nucleophilic addition
B. Nucleophilic substitution
C. Electrophilic addition

D. Electrophilic substitution

Answer: D

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_QAGrNTSBW0X2

200. Complete the following

+Br, —= + HBr

A. Nucleophilic addition
B. Nucleophilic substitution
C. Electrophilic addition

D. free radical substitution.

Answer: D

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_xKLGWq0zs8xg

(Q)

Identify major product of both respectively.

201.

CiH,Cl
cl

66,
[


https://dl.doubtnut.com/l/_irdjuNyKliWd

Cl

Answer: C

o Watch Video Solution

Ol OH
+Ph — NjQI- —BH=lodl

202. N ==N—Ph

Characteristics of above reaction is :

A. C-N coupling reaction , Carbocation is intermediate
B. N - N coupling reaction , Carbocation is intermediate
C. C-N coupling reaction , Carbanion is intermediate

D. N - N coupling reaction , Carbanion is intermediate

Answer: C


https://dl.doubtnut.com/l/_irdjuNyKliWd
https://dl.doubtnut.com/l/_jQMAJJHqUXSS

° Watch Video Solution

203.The compound formed on heating chlorobenzene with chloral in the

presence of concentrated sulphuric acid, is :

A. Freon

B. DDT

C. Gammexene

D. Hexachloroethane

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jQMAJJHqUXSS
https://dl.doubtnut.com/l/_WOtp2shkWJYD

204. Predict the product of the following reaction.

1. /\* AIC,

*

Br
A.

Q
B. &
C. Br
]
D. d:\

Answer: C



https://dl.doubtnut.com/l/_M00iEr6zyE93

| o Watch Video Solution

205. Predict the major product of the following reaction sequence.

Clgfael, A Iﬁm B Maffebiy ., Neot) E

NO, --—”—'ﬂ,‘ﬁ'}"-‘i”—+ F-.’."l‘:‘gl_.c
Cl

Br

A.
B

Cl
B.

Cl Br

0


https://dl.doubtnut.com/l/_M00iEr6zyE93
https://dl.doubtnut.com/l/_1RTX4Mf8k5N6

Br

Answer: A

° Watch Video Solution

206. Give the major product of the following reaction :

O

o]

@/“\m

TS


https://dl.doubtnut.com/l/_1RTX4Mf8k5N6
https://dl.doubtnut.com/l/_gDv5DMBXrDoT

CHj

B.
NHCOPh
C. e
) NHCOPh
3
D.
Answer: C

° Watch Video Solution

CH,
: ’_;_rl__,(“ _ .’&ﬁ&.,tn}ﬁﬂ&m;_“lﬂ_,{p)_l_ﬂ‘:‘;’w]

NO,
207. Product (E)is :

Product (E) is :


https://dl.doubtnut.com/l/_gDv5DMBXrDoT
https://dl.doubtnut.com/l/_q5iegVYVZev2

GO H

Hr

CO,H


https://dl.doubtnut.com/l/_q5iegVYVZev2

CO-,H

p

Answer: C

o Watch Video Solution

OH

C H.COCLb Nitrati
@ M COCVbase » X iten, Y(major product)

208. Yis

A. Product Ais 2, 4-DNP

B. A to B dehydration reaction

C. Ato B, geometrical isomersm will obtained as a product

D. B is known as oxime


https://dl.doubtnut.com/l/_q5iegVYVZev2
https://dl.doubtnut.com/l/_48x7ajvKXfte

Answer: D

° Watch Video Solution

2009. (i) chlorobenzene is mono-nitrated to M (ii) nitrobenezene is mono-
chlorinated to N (iii) anisole is mono-nitrated to P (iv) 2-
nitrochlorobenzene is mono-nitrated to Q.
Out of M, N, P and Q the compound that undergoes reaction with aq.
NaOH fastest is

A M

B.N

C.P

D.Q

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_48x7ajvKXfte
https://dl.doubtnut.com/l/_C4pVdXzKAwoC
https://dl.doubtnut.com/l/_9lQyFWL22X0Q

210. For the transformation the reagent used is

r T

A LiAlH,
B. H3 PO>
C. H30+

D. Hz/Pt

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9lQyFWL22X0Q

211. The reaction

i H
HO
+ CHCl, MDH),Mr

is known as

A. Perkin reaction
B. Sandmeyer reaction
C. Reimer-Tiemann reaction

D. Cannizzaro reaction

Answer: C

o Watch Video Solution

212. A compound X formed after heating coke with lime react with water
to give Y which on passing over redhot iron at 873 produces Z. The

compound Z is


https://dl.doubtnut.com/l/_FRZ04uhSDbRR
https://dl.doubtnut.com/l/_epJmi9dJD1s2

Answer: A

° Watch Video Solution

213. The reaction of 50% aq KOH on an equimolar mixture of 4-

methylbenzaldehyde and formaldehyde followed by acidification gives :


https://dl.doubtnut.com/l/_epJmi9dJD1s2
https://dl.doubtnut.com/l/_LxqFjfCtH6Uk

CH
/©/l\}1|
H,C

A. :
OH
" ('/©/\ + HOOOH
B. "
A _-COOH
lj + CHLOH
A
C. l[JE -
HO
b H
Answer: B

o Watch Video Solution

Which  isomer of xylene «can give

monochloroderivatives?

A. o-xylene

B. m-xylene

three

different


https://dl.doubtnut.com/l/_LxqFjfCtH6Uk
https://dl.doubtnut.com/l/_t7yT6sCzHZwx

C. p-xylene

D. xylene cannot give a monochloro derivative

Answer: B

° Watch Video Solution

CH, CH, H,4
D D ¥

g5 (D (1 (1)
The rate of o-nitration of the above compounds, (l) toluene, (ll) 2-D-

toluene and (lll) 2, 6 D, -toluene is in the following order

A lgtlligtll
B.ll gt I gtlll
C.lllgtlgtll

D. The rate is the same for all the three compounds


https://dl.doubtnut.com/l/_t7yT6sCzHZwx
https://dl.doubtnut.com/l/_BFIobNiVnts8

Answer: D

° Watch Video Solution

216. Cyclooctatetraene is expected to have :

A. a planar structure

B. a tub-shaped structure

C. open chain isomeric structure

D. tatutomeric bicyclic structure

Answer: B

° Watch Video Solution

IHC = cr CHy COG H,
S Tr(ﬁ]“_.l;ld., *IEJT{T+D

217.

Relation between C and D.


https://dl.doubtnut.com/l/_BFIobNiVnts8
https://dl.doubtnut.com/l/_ZQuKuEdPuU7C
https://dl.doubtnut.com/l/_UeMCDoYIMgIU

A. Identical

B. enantiomer

C.diastereomer

D. position

Answer: B

o Watch Video Solution

1. Each of the six compounds shown at the bottom of the page has two

aromatic (benzene) rings. In each case the two rings are different and are
labeled A & B. If an electrophilic substitution, such as nitration or
bromination, is carried out on each compound, then identify which ring

(A or B) will be preferentially attacked, and indicate the orientation of the


https://dl.doubtnut.com/l/_UeMCDoYIMgIU
https://dl.doubtnut.com/l/_hW2pTGnnKG4h

substitution (ortho/para, meta or all sites).

Compound|Reactivity | Substitution | Substitution
A ortho/para ortho/para I
1. B meta meta I
I all sites all sites |
I A ortho/para ortho/para 1
3. B meta meta |
all sites all sites _!
A orthoy/para ortho/para
5. B meta meta
_all sites | all sites

Compound

e 3 ) 0; :

s, 4 |
: SeCh
| X

° Watch Video Solution

2. When given substituents on a benzene ring, as activating or de-
activating and as ortho-para or meta directing for elctrophilic aromatic
substitution fill the following by appropriate (righttick) right or (x)

wrong.


https://dl.doubtnut.com/l/_hW2pTGnnKG4h
https://dl.doubtnut.com/l/_Kh3VTYXohrRF

Substituent

1. —OCH;
f
2. i ey
—0— C—CHj,
3. Il
[6)
4, —CHj,
5. —F
6. —FPh
0
7. I
—NH—C—CHj,4
(¢]
8. Il
—C—NH—CH;
i’v — Br
10. —CN
11. —CFs
0
12. I}
—C—NH,
0
13. M
— O
14.| —CH= CH,



https://dl.doubtnut.com/l/_Kh3VTYXohrRF

0
15. Il
~-CH=CH-C-OH
; 0
16. Il
CH=CH-C-H
17. -S5=E
-8~ Et
18. Il
0
0
Il
19, - ﬁ- Et
0
20. ~N=0
21. - CH,X
22. -CHX,

o Watch Video Solution

3. Devise a series of reactions to convert benzene into meta -
chlorobromobenzene. Select reagents and conditions from the following

table, listing them in the order of use.

Compound Compound Compound
sulphurie acid (conc.
1. P Ihe:n {conc.) B Mg in ether 9. Cu,Br, + HBr
2. | cl,+FeCl, and heat |6 PBr, 10.| (CH,C0),0 + Pyridine |
3, | NaNO, +H 0" 0°C | 7% H,PO,
H HNO4(conc.)+

4. - 8. -

Pt catalyst H;S0, (conc.) and heat |

A.1then 2 then 6


https://dl.doubtnut.com/l/_Kh3VTYXohrRF
https://dl.doubtnut.com/l/_gxPsN9CKOOVp

B. 2 then 8 then 4 then 3 then

C.8 then 4 then 10 then 2 then 3 then 9

D. 8 then 2 then 4 then 3 then 9

Answer: D

° Watch Video Solution

4. Match the Column (1) and Column (ll). (Matrix)

[ o

Tl
(a) lﬁﬁc \rldi ® Aromatic
LSS
|
B R
b) | | (@)| (4n + 2)n electron in a single ring
sty =t
|||
(© Fe(CHs)s ® 4nx electron in a single ring
(d) Cr(CgHy )z _ (8) | Effective atomic number of metal = 36 |

o Watch Video Solution



https://dl.doubtnut.com/l/_gxPsN9CKOOVp
https://dl.doubtnut.com/l/_2ItEQgj6IbZw

5. Match the Column (1) and Column (l1).

Compound (Monocyclic) Number of n - electron |
(a_). C.HF ® 2me
(b) C HY? (q) 6ne :
(© CoHY! ® 8ne !_
) (oS : by (s) 10me :

o Watch Video Solution

6. Match the Column (1), Column (II) and Column (lll). (Matrix)

=

| (a) (w) (4n + 2)x electron.

n=0123

(p) Aromatic

n=123

(c)

(r) Anti- aromatic 43 Non-planar compound

I
()
(b) D . (q) Non-aromatic (x) finm alectron

(d) (s) Planar compound (z) Rﬂd“? reacts with
active metal

° Watch Video Solution



https://dl.doubtnut.com/l/_Mj5wzmmOrgQE
https://dl.doubtnut.com/l/_Bb6XK19L3A0D

7. Match the Column (1), Column (I1) and Column (ll1). (Matrix)

Readily react with

@ [ | | yreacwic G comae
; Readily undergo
(b) (@)| Dimerization at room | (X) Anti-aromatic
temperature
(c) r) f‘*ﬂr:f)g f;f;mn w Non-aromatic
R e

High dipole

° Watch Video Solution

8. Among the following compound.

Compound

Compound

Compound

(4 || iN] © EI* (L) © J

OH !

(g) CaHy (h) CyHj ® f :\ ?

|

I i

i - & © it |
|U) Cg} L N

N N



https://dl.doubtnut.com/l/_E5PfopRdAbUf
https://dl.doubtnut.com/l/_4keRPaTBZhgx

A. Number of compounds which are aromatic = P

B. Number of compounds which are anti-aromatic = Q

C. Number of compounds which are non-aromatic =R

D. Number of compounds which readily undergo dimerization at room

temperature =S

Answer: P+Q+R+S+T =18

° Watch Video Solution

9. Of the following compounds which will react with Bry at room

temperature in dark.

| (m) | Benzene (C, H,) !
|—(b) Cyclohexene (CgHjyg) |

I(CJ Cyclohexane (CH,.)
(d) | Propanoic Acid (C;H.COH)
| (&) | Phenol (C 4 H:0H)

| (f) | Nitrobenzene (C HNO,;)
!—(8) Hexyne (CH o)
(h) | 2,2 dichloropropane (CyHCl,)

o Watch Video Solution



https://dl.doubtnut.com/l/_4keRPaTBZhgx
https://dl.doubtnut.com/l/_YIFYMeogoHmd

10. Among the following compound.

i
(® @ ® @
h) »@m ) CyH3' |

(a) @j (®) (o Py (c)

A. Number of compounds which are aromatic =w

B. Number of compounds which are non-aromatic = x

C. Number of compounds which are anti-aromatic =y

D. Number of compounds which readily undergo Dimerization at room

temperature =z Sumof w+x+y+z=..

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nHH6LCkJ2E8T
https://dl.doubtnut.com/l/_thNQklsdX6w4

11. Complete the following table.

Reagents(s)/Conditions

(a) (6Y]
NHg
1, NaNO, in dilute
®) H,50,/0-5°C (8)
2. heat or boiling
NO,
CH4
(c) 50 /conc. HyS0, ()
OH H
1. NaOH heated at 330°C and
@ o = (O
2. dilute Hy0 CH,
CHy
cl
NO,
1. aqueous NaOH
(e) heated at 60°C (E)
2. dilute Hy0"
NO,

° Watch Video Solution

Level 2 Comprehension



https://dl.doubtnut.com/l/_thNQklsdX6w4

1. Given is the energy profile diagram of nitration of benzene using mixed

acid. (HN03 + H2504)

LS,
/’ﬂ/'{'

readlion oo ofdinake

Identify (x) in above reaction :

L N



https://dl.doubtnut.com/l/_Y5qBsz4B4Kxl

MO
4
A
B.
NGO,
- & v
L H
C.
D. none
Answer: A

o Watch Video Solution

2. Given is the energy profile diagram of nitration of benzene using mixed

acid. (HNO3 + H2SO4)


https://dl.doubtnut.com/l/_Y5qBsz4B4Kxl
https://dl.doubtnut.com/l/_neEouf502WYc

PE.

i)

CH, + :-r:-, Fh - NG,

resction-co-ord inate

Identify T. S7 in the above reaction.

MWD,

LAE VR

je

ki


https://dl.doubtnut.com/l/_neEouf502WYc

M)
H

D. none

Answer:

° Watch Video Solution

3. Given is the energy profile diagram of nitration of benzene using mixed

acid. (HNO; + H,50,)
1 TS,

PE.

CH, + MOy Pho NG,

resction-co-ord inate

Identify T. S5 in the above reaction :


https://dl.doubtnut.com/l/_neEouf502WYc
https://dl.doubtnut.com/l/_chs5QrTKyC8f

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_chs5QrTKyC8f

4. Examine the ten structural formulas shown below and select those that
satisfy each of the following conditions. Enter one or more letters (a

through j) in each answer box, reflecting your choice for each.
[ e
CH; N(CHy)y
R O o O
S04H NO,
. ©/ d. ©
I|I
N.
C
|

Ko

(o]
-Hy

—

C- CHj

Hy .. CH,4
Br
hiis Gl

Which compounds undergo electrophilic nitration more rapidly than

benzene ?

° Watch Video Solution



https://dl.doubtnut.com/l/_ozek1csamk0f

5. Examine the ten structural formulas shown below and select those that
satisfy each of the following conditions. Enter one or more letters (a

through j) in each answer box, reflecting your choice for each.

[ R

CH, N(CHy),

Rl 8
§04H NO,

Bea i B
I
|
N.
C
|

Ko

(o]
-Hy

—

C- CHj

Hy .. CH,4
Br
R Gl

Which compounds give meta substitution under electrophilic

bromination conditions ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IXG38pqRnHzH

6. Nitrobenzene is a versatile compound that may be converted into a
wide variety of substituted benzenes. Five such synthesis are shown
below. In each reaction box above an arrow write letters designating the
reagents and conditions, selected from the list at the bottom of the page,
that would effect the transformation. The reagents must be written in
the answer box in the correct order of their use. You may assume

appropriate heating or cooling takes place, and more than one equivalent


https://dl.doubtnut.com/l/_NGNv5nmsOHeu

of the reagent may be used if needed.

a. —_— V. @\
Cl
N B i 58S
04N
?Ha
NO.
@l 2 g % N/O/ N\CH:’

nitrobenzene

A | H,, Ni catalyst F. | Cl, & FeCl,

B. | KBr & Cu,Br, G. | NaOH 10% solution
€. | KCN & Cu,(CN), H. | (CH,C0),0, pyridine
D. | HNO, 0°C 1. | Hvo, /H, S0,

B CH, ! & pyridine

o View Text Solution



https://dl.doubtnut.com/l/_NGNv5nmsOHeu

7. Match the column | and II.

Group Effect on phenyl ring

(a) —CH = CH-CO,H p) o/p-directors

0
(b) O g CH, q meta-directors

(8]
(c) NH "‘: ~CH, (r) Activating group

~5-CHy

(d) (o] (s) De-activating group

° Watch Video Solution

8. Match the column I and II.

Column (1) Column (IT)

Gmp Effect on P'Iel'l}'l group

(a) (P) | Activating group

(b) (9} | De-activating group

000



https://dl.doubtnut.com/l/_1boMy2zvzZip
https://dl.doubtnut.com/l/_4lGW8fRmqzlY

: H=CH,

‘tﬂ 6 () o/p-director
~Et

(d) @ (s) ' meta-director

° Watch Video Solution

9. Nucleophilic Aromatic substitution (SNy;,) :
A substituted benzene derivative containing-NOz and Cl group at p-

position is subjected to Nu-substitution.

Cl OCH,
+ CH,ONa B, . Nt
oo
NO, NO,
§ chioroninrobengens iy Mitroanisale)

L e Xl


https://dl.doubtnut.com/l/_4lGW8fRmqzlY
https://dl.doubtnut.com/l/_gflcs6bPRlyB

Match the column land Il ;

UGH,

" .
CHyONa |
A
NO, NO,

om0 cmn ]

X = halogen relative reactivity toward (SN, ).
(a) -F (i) 312
(b) -l (C)] 1
) - Br x) 0.8
(d) i (s) 0.6

o Watch Video Solution

10. Nucleophilic Aromatic substitution (SNy;,) :
A substituted benzene derivative containing-NO2 and Cl group at p-

position is subjected to Nu-substitution.


https://dl.doubtnut.com/l/_gflcs6bPRlyB
https://dl.doubtnut.com/l/_BMUL9HGOQsgY

Br

A. Fluoride

B. Chloride

C.Bromide

D. lodide

Answer: D

Product (A) is :

o Watch Video Solution



https://dl.doubtnut.com/l/_BMUL9HGOQsgY

11. Nucleophilic Aromatic substitution (SNy;,) :
A substituted benzene derivative containing-NO, and Cl group at p-

position is subjected to Nu-substitution.

cl OCH,,
+ CH,ONa BH O | . Nl
Rl
NO, NO,
- chiufonitrobeniene (- Nt o e |
|G |

Which of the following is most reactive toward SNy,

Cl

MO

>
|

Cl
MO

NG,


https://dl.doubtnut.com/l/_UJQdKekXnuNl

O;N NO,

$

Answer: D

o Watch Video Solution

12. Nucleophilic Aromatic substitution (SNy,) :
A substituted benzene derivative containing-NO2 and Cl group at p-

position is subjected to Nu-substitution.

Cl OCH,

+ CH,ONa Lok Lo S Mol
]

NO, NO,
pchistontrobensens (- Ntroanisale )
Cre ]


https://dl.doubtnut.com/l/_UJQdKekXnuNl
https://dl.doubtnut.com/l/_yuZBRclnbMah

NGy, (4) 21O, (g (Major)

cl

product (B) is :

]
Hﬂ:
A. I II.'i
Cl
OCH,
Cl
B.
OCH,
NO,


https://dl.doubtnut.com/l/_yuZBRclnbMah

1
.,;_')C"f"*"\

NO
Cl

Answer: A

o Watch Video Solution

13. Nucleophilic Aromatic substitution (SNy,) :
A substituted benzene derivative containing-NO, and Cl group at p-

position is subjected to Nu-substitution.


https://dl.doubtnut.com/l/_yuZBRclnbMah
https://dl.doubtnut.com/l/_sESceziS45hv

_OHOH
.

NO,
(- Nitfoanisobe |
(92%)

[0} NaOH A
(2 Hy0%

v NaCl

i r_‘*:II P‘[[

Product (A) is :


https://dl.doubtnut.com/l/_sESceziS45hv

OH

Answer: B

o Watch Video Solution

14. Nucleophilic Aromatic substitution (SNy;,) :
A substituted benzene derivative containing-NO2 and Cl group at p-

position is subjected to Nu-substitution.


https://dl.doubtnut.com/l/_sESceziS45hv
https://dl.doubtnut.com/l/_mVyLanzbiaPA

Ll
@ + CH;ONa l:‘?” , + NaCl

prchloronitrobetizens Nitroanisole )
. - (92%)

I (2 Hy0%
Br
Product (A) is :
F
F - CH = CH,
F OH
A. F
F
F; - CHy - CHO
F
B. F
p
F
F 0
F


https://dl.doubtnut.com/l/_mVyLanzbiaPA

Q-

Answer: C

° Watch Video Solution

15. Nucleophilic Aromatic substitution (SNy,) :
A substituted benzene derivative containing-NO2 and Cl group at p-

position is subjected to Nu-substitution.

OCH,
+ CH4ONa --F:-‘S_‘-?_“ @ + Nacl
N(Jz NO,
p-chloronitrobenzene (p-Nitroanisole)
i (52%)

Which is the best route for  the synthesis of

CH NO 4

Starting from benzene of ?

B, o _MING, MND, | NeOCH
Fe By 1,50, H 50, CH y Ok0


https://dl.doubtnut.com/l/_mVyLanzbiaPA
https://dl.doubtnut.com/l/_nC0DU0YAPOyk

HNO, HNO, Br, . NaOCH,

H,50, H,50, FeBry CH,OH
B.
[INO, . Br, . HNO; _ NaOCH,
c.  HaSO. FeBry H,50, CH4OH
HNO, Br, . NaOCH HNO,
H,50, FeBr, CH,0H  Hu80,
D.
Answer: A

° Watch Video Solution

16. Identify product (A) and write its structure.
== —— T

Fh
o H*
Ph EI'.'H ——p I, (A)
FPh

° Watch Video Solution

Level 2 Subjective Problems



https://dl.doubtnut.com/l/_nC0DU0YAPOyk
https://dl.doubtnut.com/l/_ZakFPkgS81oz

Double bond equivalent of D is :

o Watch Video Solution

2. How many isomers 'x' of Cs Hip when reacts with hot alkaline KMnO4
give only aromatic dicarboxylic acid ? How many isomers 'y’ of C4 Hg when

reacts with hot alkaline K MnQy give carbondioxide ? Sum of x+y=?

o Watch Video Solution

3. How many groups are op director in the electrophilic aromatic

substitution ?

(i) —NH, (ii) —COH (iii)y —N=0 (iv) —COOH

(v) —OMe (Vﬂ—O—(!—Me (vii) —Et (viii) —C— NH— Me
() —N=NH,  (x) —SO3H



https://dl.doubtnut.com/l/_XXsqwXa79hm3
https://dl.doubtnut.com/l/_lJ6NmaDmgkuU
https://dl.doubtnut.com/l/_JQi8ejlUYnaS

| o Watch Video Solution



https://dl.doubtnut.com/l/_JQi8ejlUYnaS

